Loaic Puzzles

Porbiats Cashels

Two caskebs: silver and Solo\.
Exacﬂj one L\as a Picl:u.rz of Brbia in it.
Each caskel: has an inscrilal:ion which ma\j be brue or False.

Silver : exacHJ one op these insCriPI:ions is brue |

Gold: the Piclfure. is not in this caskel .

Subs':il:ulsion of Eclmjs par EcLqus

A sbudent bujs fwo \mrs’ one for themself and one Por a Priend.
The beer for the Priend cosbs bhree Eimes as much as bhe one Pov bhemself .
—ﬂu_ sbudenb pays with o %5 note and receives £ in ckauae..

.{ F Price op beer por Priwo\
it Pric.a of beer for anmso.l‘-\
fc cko.nae




Exad'l\tj one has a Pic‘:u.re. of Borkia in it.

Silver : exacl:b one of these inscripl:ions is brue

Gold: the Pici'ure. is not in this casket .

_Z;/ana/ a/ /(Q’féés ana/ /<//7m/e5
KniJM:s aJwa.\u,]s bell the Erubh.

Knaves ajwans lie .




T nhabitant saijs :
[here i jo/a/on Uis island is bhe same as I am a b:g// .
WL\U\L con JOU. Aﬂdl&CQ?

Rule: IF o native mokes a Sl:a’:emenl:, then

A =S
wl\ere A is U\e truth value. of "the native IS & knijht")
ond S is the brubh value of bhe skabement .




Ru\e: If a native is asked a iuesl:ion/
H’\e,]r res’oonse 1S H\Q trukh value OP A= Q
wlw,re A iS H\e truth value op "the native Is & knight",

and  QQ is the answer bo the q/uesh’on.

Ecl/ua\ 'k‘j
° reflexive
° sym mekric
° transibive
° subskitukbive

OF “DOO\QOLHS

° associoiive




In order to e.xrloil: ’ooU\ l:ransil;ivilsj and associq':ivi’sj

of boolean ecLua\ilzj, somekimes wribe
P =

and somekimes wril:ecL
pP=g -

/A\ conbinued eﬁ/uaji':j

P = cL = r =
is reaol coylmcf/'ona@.

A Conkinuad u}/uivajes

P = c[ = r
is read a.ssac/aé'rfé.

EX&MP\QS
[p=p-= Lrue |

[‘1‘3 = P = pa\s:z_—)




Golden Rule
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In‘nabil:c«.n‘: sa\js:
L am a /4/7& ve b4 gée/e /s jo/o/ on bhe islandl.

There is Jo/o/ on bhe islind F I am a z(ﬂ(/jéf




